[GpS08:008930505043 (q§0p§03C:e320(03:) @llog- J- jo Jg qodes, cpdeq:qdi(gdedlgmcgascy

20§ (cl:on§:)
5> |edlsos: B3 500000 990000
J |edTog B3 0000 2J000
2 |epSeco B3 0 000 95000
G |8 B3 Qo000 QJooo
9 [s0§03 (s263p) 303 8000 59000
Odf¢ (opqéegod)
G |03 o/§ Q090000
Q |0o0f:¢ o/ 2689000
® |0o3egal o/ 1999900
@ |e0000050 6/n§ 636600
%0 (303883 o/o§ 99900 05 JR00
00 |Ocp§e(gy o/§ JJeBgeo JRGego0
o) |0cgd:§ o/ JRE1900 Jg5e800
3R [§0Bod0 o/0% 1J55500 JRGogoo
oG |08 o/ 2066 Joo ORGO00
59 [egocsed o/ 68og00 6qaboo
o8 |apeoa:ofgieg:(o: o/} Jeosgoo R003000
29 |g§oxd/g o/ ogBoBoo JoREo0
00 |0[c3: o/} 549900 539700
oo:c%saooéof?: (UPG]_E:G;?’.)E)
og |(303p8% 80002 900 Jg00
Jo |(©30388(g (231929%) 80002 Eooo BJoo
Jo |(0305338(g) (§S20) 8oooo oBs00 2Q000
1) | 80030 Booo
5 |ss 8003 50000
JS |cqodgpS(os:d) 8oomo Gooo 20000
J9 [caode(=Eggde) 8oo0o 0gg00 oBooo
0203288
16 [e[gos8 8203 56000
1q |56 80030 56000
o [oosp§:s8 82030 090
J@ [edlcon (oudeq) o6 9E0
20 [ealcon (epliaqp) o6 29E9)




Rq¢esrtor§end§eoon-)-jo s o5, 0gi§jac
m:@eaooéogs«%qp:@ﬁ (02882000) mcﬁmo:eqsﬁ%seﬂo:
T 590050 S ()
) g¢
Odje$ (pa¢egot)
o[ea50 82000 9009
J|o0ds 82000 G joq
2[00Begdl 82000 G900
G|ec020050 82000 Q90
9003882 82000 90 99
6|ogsi(st 8002 2990 ReJ°
Q|Ocp§:§ 82000 YER) G000
09308050 82000 266y 2099
@[99 82000 Q000 2990
20 [0powo2d(gled:(o3e 8000 GQ90 SEJo
22|g§0208/(go 82000 )09 Q909
2[0[03: 82000 Beoo Qoe0
09|92:60050 82000 BBy 6009
oG |0pco:0(gé: 82000 Bgoo 6Boo
o8)|elgoésad 82000 2000 2000
[p3odp§8
o6 (a85(gyq05 8200 JGoo
2Q aga@u(morg@:) 8000 JRoo
20 [s83(g) (c00500§) 82000 JJoo
o@ aga@u(morgsqp) 82000 2900
J0](6E:(3 (008)g05 82000 2Jo0
P @5:@]((\)0’5@:) 82000 Q000
114|885 (c005208) 82000 900
R @5:@] (C\)OSGQ_P) 82000 Jooo
(030533l
1503109059105 8000 @000 @Joo
J9|eaoodsons- 82000 a6s00
J8[emmaodion:-o 82000 2Q000
Jq|eseoodioni-g 82000 9Q00
Jo|emeaosion:-¢ 82000 29000
cq68:
N3 @p% (128000) AC 82000 0000 0§00
20]08:q) (208) AC 82000 Booo 20000
fote} fé:c;oo:)é(g(g%) 82000 - -
2J|o€(glogd: (208) 82000 26900 26000
R @5)0 (9):»03 82000 - -
0§58
35 |6e§0p5:38:9Eand (208) 82000 Q000 Q000
29|e§091p5:a8:320002 (208) 8000 G500 9000
3390{1):
JB|o303: AL 8000 -
2q|w3B:0K 82000 -
Q0 |0303:s1 8000 =
J@|dB: 52 82000 -




